Warm Up October 30, 2018

1.) Solve the inequality and name three solutions:

2.) Find the slope: (-2, 4) and (-6
Rl R L '+
X —L=GQ) T
x& X, WrCd) T _
a numberj dded tolfour}is the same asj
ubtracted from[The number] What is the number?

U- X
QX

X+4E—
il




: — :
@wmmgraph represents the line y = -27?
y J 7/
I C. I ||,

———1 + | t X ! PC)S.
: :i;‘l"\ 1 111 3
\ ¥y / ¥
% % i (o N
- x = d-si_ g
e
Yy T R

o
Which best represents the equation of the line?




Write the equation of the table below.
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Unfortunatley, the y-intecept cannot always be

found by looking at the table.

Option #1: Work Backwards
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Fill in the table forx = o
O 13 13
X | 316 9 | 12 | 15 | 18 | 21
Y 4 6 8 | 10 | 12 14 | 16
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Option #2: Use the Point-Slope Formula




Main Ideas/Questions Notes/Examples

To write the equation of the line passing through point (xi1, y1)

WRITING LINEAR with slope (m), you can use the point-slope formula:
EQUATIONS Point-Slope Formuia:

(Given a Port U-Y =m*-X D

and Slope)

*Be sure to distribute and solve for y1*

For tables without x = 0




Writing an equation given a point and the slope.

1. (4, 1); slope = 2

3.( 2, q);m_;:na%
] 1l
~4=7(xq)

= by
i
=akt3

4, (-8, -1);-slopa— —%
Xp'h m
+

=3




Warm Up November 1, 2018

1.) If x is an integer, what is the minimum value

of x that satisfies the inequality?
7(X-2)+1<X

2.) Arianna went to Marshall's and purchased a
shirt for $21.75 and socks for $3.99. If tax was
7.5%, what was her total bill?

3.) Identify the slope and y-intercept :
2y + 5X = 16.



To write a linear equation given two points,
(x1, v1) and (x;, 1), follow this process:

Use the Slope Formula Use the Point-Slope Formula

=

7.(-3,7)and (1, -1) 8. (-6, -7) and (3, -4)




9. (2, -1) and (4, -6) 10. (-3, -8) and (2, 7)




